ey fRmrEeR [Ree Aer g SR el 3 B -3
Taepifer (SmPT) @ 9§ Ad-2039 Ter @mvﬁwrf{x)mx:xﬂﬁmwﬁfﬁmaﬁrwnﬁ:ﬂmﬁx)em)
- 5630 R @32 ::1{0 f(x) = fixo) |
- (®) y=x""TA, yyo =2
[[fy=xm then }’]m:?]

> | R do & ez Tem wine- 3 X 0 =)0 150! ) 150!

(F)  TIRHTTA HGal WG | e Yo =50 110)1 X =T X
[Define function.] (®) y = f{x) FRE (x,, y;) ee “=piees iliemil® )

T : AWM x @R y 920 TIE GI6 @R {GFA G0 T 2 @ AGTF x e [Write the equation of the tangent of f{x) at (x1, y1)]

X 9% G G ST y e Y ANGH T O [ @ X G TS Y G TG : y = f(x) TR PP BoAd G TG R (x,y) 20T IR (x,,
d
GG IR T | y.)ﬁmwm"fyfylza‘i(xfxl)]

o B AT FRHTTT THIZ WIS |

0 , s _ (&) e SR ST L. Hospital 9% fr 3 337
[Ghive an example of an.gn to finetion. | [State L. Hospital rule about indeterminate form.]

TET : f{x) = x WA IRGIS : V - V G5 IS 1o e e '

9 =x q ? - I Teq - L.Hnspiialmﬁw:ﬂﬁ?@ﬁmx:aﬁm
(*N f(x)=\(:‘m"mm‘?ﬁ‘fﬂ¢?l (i) f(x) @ g(x) T 735 G2 g @Ry =0 |
| (ii) f{a) = g(a) = 0 T qR
[Find the domain of the function f{x) = ———] . .
V1-x (iii)%ﬁmﬂmmmga%%i%:%

BGT : @A 1 - x>0 A x < | IF G (ST f(x) GF T 6 G | “g “ gx) x=maglx) 8
L D= {xix<1)

r:(_m n @ | =2 S dx T N #rE?
? [#] [#]

(M) AR (e - 5) RGOS | ¢ q
[Give the (€ — 8) definition of limit.] What is the condition f dx =2 d?

Tea : m @ T f(x) 9T AW M =, T = x Tow e e AR L econ“onmjofw ) Ioﬂx) il
TRA 2 97 HCF W W T GR FF W § > 0 9T G 93 T 22 .
fSaMeT = NI e ¢ > 0 SMGAT T @ |f(x) - m| < &, TITO < Bog ;3 f(xlzf(za—xlwwfﬂ ﬂx)dxzzﬁ,ﬂx)dxm'
Ix-al<eZI (@)  TROT PR RS WS |

(8)  x=xFS sy TR wififbeaer = F [Define Beta function.]

[What is the condition of continuity of the function f{x) at x = x7] I
Teq m,n>0'€ﬁf0xm'l(l—x]*ldxw%mﬁ‘ﬁﬁﬁlLﬂWﬂ(m,n)
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1
s B(m, n) = J.o x™' (1 - x)""dx
HeFS BT SRET WS |

[Define improper integral.]
: mﬁﬁmﬁﬂx)dxﬁwmﬁwmﬂﬁiﬁﬁm
a

i a @R b 97 FHCF 9FB ST =7 A T a < x <b @ GF
1 G qee 2HaE fi(x) [ites =3

[a, b) TR y = fj) FIRATTA 5 oy ey vl v

[Write the formula of are length of f{x) for the interval (a, b).]

: Erﬁtwcﬂ’ﬁaa:f*\ /1 +(§X dx.

et
O X ¢=3
1 ,TWAT x <0

- x
21 gy =g 1HSInX L TINO0S X< g x =2 forre el @

T

2 I
2+(x—5) ,'*I‘*FH;ZE
612 9 |

[Test the differentiability of the following function at x = th fix) =

r1
when x <0
] +sinx

when 0 < x<%
]
2+(x—

when x>
\

A

2

)

S TE]

Facebook - Pi Math Club

TRT T 7K @ FTEE-3

O xF HAACH log,x + loga T Sae ey <9 |
[Find the derivative of log,x + log,a w.r. to x.]

81 y=3x’-2x - 4 IGEIF @A fFgrs =% x + 10y - 7=0 @GR
T o G [E gE 9T 9 |
[Find the coordinates of the points where the tangent of the curve y = 3x’—
2x- 4 are perpendicular to the line x + 10y - 7=0.]

@1 f(x)=x —6x" + 9x + 5 FRHAN0F JrwA® 8 ZHAIS JaTY (77 = |
[Find the intervals where the function f{x) = x’— 6x’ + 9x 5 is increases
and decreases. |

OIS [Integrate ;[ o]

o j(2x+ 1)\fax+3 e j[2x+ 1)\ax+3
Ty LYY
| wF A =J‘ In (sinx) dx. [Evaluate : J‘ In (sinx) dx.]
o o

L Jsec"x dx < T 7@ 1 T4 | [Find the reduction formula ofj'sec"x dx]

> & >

® 1 S 99 SfSIfEST BIR F4 | [Test the convergence of [ S
[+t NN

si-Rrert

T CILAT A6fe erea Taa wre- qx ¢ =0

X+1 T x<0
o1 fix) = ‘1‘ A0 2] e oo o W | RS
o qdq |1 <x
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ST AT 95 B ITEET-S

» |

R

29 |

281

x + 1
When x <0
X

[Sketch fix) = When0< x< | Also find the domain and range of the
1

X
When 1 <x

given function.]

—sint (A= dy_, 2
(¥F) y=sin (I )ECFT CF‘*IT‘@C‘?,d T;I

2

1-x 2
R ; dy
[(a) Ify=sin (—zl +x), then show that,

=i

() sin”'x 9T FCACF !, G e oy 59

[(b) Find the derivative of x™™'x w. r. to sin™ x]

o Sereimy 31 39 9a2 9 ARET (T8 @, (1 - X%) yaa2- (20 +
1) Xyns 1+ (m? = n?)y,=0 QAMA, y=sin(m sin"' x).
[State Leibnitz theorem and use it to show that, (1 — X’) Ya+2— (2n + 1)

XYn+ 1+ (m* = n®)y,=0 where y=sin (m sin™' x).]

@W%ﬂﬁmeww%ﬂwmw[ ]mﬂr—f(x)-

X (X — 1) (x — 2) FIR¥THE T TATGE TG SAATATT o5l A612 4 |
[State Rolle's theorem and Lagranges mean value theorem. Test the
applicability of Lagranges mean value theorem for the function f{ix) = x (x

- 1) (x - 2) in the interval I:O, %]]

TP P : (i) f—z_'dx (ii) _[-smb—

X" +x+1

. x—-x+1 . dx
[Integrate : (i) fmdx; (i) j Sindx — sin)
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My 5 /g
wﬁrﬁraﬁ.f:(i)jo (}_aq)ﬁ;(ii)j‘o In (1 + tan 8) d6.
/3 H T/g
[Evaluate : (i) Io -39 ﬁs (ii)j

I'(m) I'(n
% [Prove that , f (m, n)=

In (1 + tan 6) d6.]

['(m) I'(n)

&9 T @, B (m, n) = Tt m)]

r=a (1l + cosd FIfCITT BT W7 CFET CFawe g o9
[Find the area bounded by the Cardioid r=a (1 + cos8).]
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